\ 4
Hitch Installation Instruction
A REV.20250101

Part# HT-X30420 | Application For 2020-2024 Kia Telluride All

Hardware List Item Part Name QTY | Description | Item Part Name QTY Description
Hitch Parts A | Hitch Body 1 BIC | Mounting Brackets| 2 | oo ot r?;f Side
1# | Hex Bolts 4 |M10X1.25-30 | 4# |Conical Washers | 8 |M12
(For Hitcl;limthallation) 2# |Hex Bolts 4 |M12X1.75-120 | 5# |Conical Washers | 4 |M10
3# |Hex Nuts 4 [M12X1.75
HW A 6# | Hex Bolts 6 |M12X1.75-40 | 8# |Lock Washers 6 [M12
(For Hitch Assembly) | 74 |Fiatwashers | 10 |M12 9% |Hex Nuts 4 |M12X1.75

Gross Load Capacity When Used As A Weight Carrying Hitch: 5000 LBS. Trailer Weight & 750 LBS. Tongue Weight.
Gross Load Capacity When Used As A Weight Distribution Hitch: 6000 LBS. Trailer Weight & 750 LBS. Tongue Weight.
***DO NOT EXCEED VEHICLE MANUFACTURER’S RECOMMENDED TOWING CAPACITY. ***

* Trimming Required
* No Drilling Required

PASSENGER SIDE
FRAME RAIL

WELDNUT CLEANING

?

To remove debris from weldnuts

= in frame, spray lubricant or

compressed air into hole.

For heavy debris, use a

small wire brush.
(Be careful not to damage threads).
c INSTALL INTO EXISTING
ASMVEHICLE WELDNILTS
EXISTING

TUBE SPACERS
IN VEHICLE FRAME

DRIVER SIDE
FRAME RAIL

BUMPER COVER TRIM DIAGRAM

DIMENSIONS ARE FOR REFERANCE OMNLY - TRIM AS NEEDED

The instruction here is for your reference only. We strongly recommend the professional installer for best result.
We are not responsible for any damage caused by the installation. Thank you for choosing our product!

Pagel of 3




Hitch Installation Instruction

Part# HT-X30420 | Application For 2020-2024 Kia Telluride All

Step Description

Assemble Hitch Body (A) and Mounting Brackets (B, C) with (6) M12X1.75-40mm Hex Bolts, (10) M12 Flat Washers,
(6) M12 Lock Washers, (4) M12 Hex Nuts.(Hardware in “HW A”).

2 Lower spare tire with 11mm socket and ratchet. Place spare off to the side.

3 Remove the driver side underbody panel by removing (3) push clips and turning (2) plastic retainers counterclockwise
with a 14mm socket.

4

5

BUMPER COVER TRIM DIAGRAM
DIMENSIONS ARE FOR REFERANCE ONLY - TRIM AS NEEDED

The instruction here is for your reference only. We strongly recommend the professional installer for best result.
We are not responsible for any damage caused by the installation. Thank you for choosing our product!

Page2 of 3




Hitch Installation Instruction

Part# HT-X30420 | Application For 2020-2024 Kia Telluride All

6 Raise hitch into position over exhaust and loosely install fasteners as shown on page 2.

7 Torque all 12mm fasteners to 86 Ib-ft and all 10mm fasteners to 48 Ib-ft.

8 Reinstall underbody panel, raise spare tire back into position and reinstall the exhaust isolators.

***Periodically Check The Receiver Hitch To Ensure That All Fasteners ***
Are Tight & All Structural Components Are Sound.

The instruction here is for your reference only. We strongly recommend the professional installer for best result.
We are not responsible for any damage caused by the installation. Thank you for choosing our product!

Page3 of 3




